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Question 3
6points (1 +1+1+1+2)
(a) 1 point
¢ One point earned for stating that Jackpot Florist’s dominant strategy is to close at 6 p.m.

(b) 1 point

e One point is earned for stating that this is not the profit-maximizing action by Boulevard Gardens and
for explaining that Boulevard will earn $30 by choosing Delivery instead of $20 choosing No Delivery.

(c) 1 point

e One point is earned for identifying the profit for Boulevard Gardens in the Nash equilibrium as $30.
(d) 1 point

e One point is earned for stating that they would choose to close at 9 p.m. and offer No Delivery.
(e) 2 points

e One point is earned for redrawing the payoff matrix showing the effect of the agreement.

Boulevard
Delivery No Delivery
6 p.m. $35,$30 $43,$32
Jackpot
9p.m. $37,$38 $45,$40

e One point is earned for stating that Boulevard will agree to Jackpot’s proposal and for explaining that
Boulevard will be better off because this will increase the payoff from $30 to $40.
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Question 3
Note: Student samples are quoted verbatim and may contain spelling and grammatical errors.
Overview

The question assessed students’ understanding of two-player (Boulevard and Jackpot) strategic games. In parts
(a) through (d) of the question, the students were expected to identify a player’s dominant strategy, identify the
payoff for a player, explain why an alternative pair of actions was not profit maximizing, and identify the
collective best result. In part (e), the students were expected to construct a new payoff matrix based on a proposal
given by Jackpot. Students were expected to determine if Boulevard would agree to the proposal by comparing
the Nash equilibrium of the original matrix with the Nash equilibrium of the new matrix.

Part (a) assessed students’ understanding of a dominant strategy. Students needed to state that Jackpot’s
dominant strategy is to choose a closing time of 6 p.m.

In part (b) students were asked to determine whether an action is profit maximizing and to explain their answer
using values from the matrix. Students needed to state that the proposed choice is not profit-maximizing and
explain that Boulevard would earn more by choosing Delivery than No Delivery ($30>$20).

Part (c) tested students’ ability to identify Nash equilibrium outcomes and to correctly identify the payoff for the
player. Students needed to state that Boulevard would earn $30 in the Nash Equilibrium.

Students were told in part (d) the two firms merged to form one company with two locations while still facing the
same choices. This part of the question tested students’ ability to understand profit-maximizing behavior and the
effect of a change in market conditions in the context of a given payoff matrix. Students needed to recognize the
new best outcome maximized the sum of the two profits in each cell, and state the actions associated with the
profit maximizing outcome (9 p.m. and No Delivery).

In part (e) students needed to construct a new payoff matrix based on a proposal given by Jackpot. Students were
expected to determine if Boulevard would agree to the proposal by comparing the Nash equilibrium of the
original matrix with the Nash equilibrium of the new matrix. Part (e)(i) tested students’ ability to construct a
payoff matrix given new strategic considerations. The second part, (e)(ii), tested students’ ability to compare two
separate Nash equilibria in order to explain that the optimal choice is for Boulevard to agree to Jackpot’s proposal
because it will be better off in the new game ($40 > $30).

Sample: 3A
Score: 6

The response answers all parts of the question correctly and earned all 6 points.

Sample: 3B
Score: 3

The response earned 1 point in part (a) for identifying the dominant strategy is to close at 6 p.m. The response
earned 1 point in part (b) for recognizing the option is not profit maximizing and for using values to compare the
profits ($30>$20). The response earned 1 point in part (d) for stating that the profit maximizing strategy for the
new company would be for Jackpot to close at 9:00 p.m. and Boulevard to choose No Delivery.
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Question 3 (continued)

Sample: 3C
Score: 2

The response earned 1 point in part (a) for identifying the dominant strategy is close at 6 p.m. The response
earned 1 point in part (d) for stating the profit maximizing strategy for the new company is for Jackpot to close at
9 p.m. and Boulevard to choose No Delivery.
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